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TTC -
1
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#r & 2 (Beb5.0 pHd. 2 Brixl0.2) Bbimd
Fola— gk Mg
[ 3835 3 10mé
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15 19
S f & &t
TV €3] 25 55 80 160
ThI-NigskEe  (g) 10 10 20 40
B IK (mf) 10 93 164 323
50% FLER (mf) 0.18
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R o B R Wi EF
#w K*kg 11 34 68 102 215
& K ke 7T 26 52 & 170
# kke 4 8 16 17 45
&Ik 12 35 86 166 10 310
ThI-Iy 42(30%)
3
3
50%
4 6
197N [{{3 % hTavER
Tha- YT IFl E/A
(ppm) (ppm) (ppm)
Bk 188. 3 7.1 1.0 3.8
12-6 201.8 12.1 5.7 6.0
12-11 187.4 10. 3 4.8 5.5
12—_30 223.5 13.7 1.2 6.1
10-3 143. 4 3.4 3.0 2.4
10-10 117.3 2.6 2.6 7.3
10-30 144. 2 10.6 1.5 7.4
10-3
7
49730 i3 h7ovEs
7ha-m AIT7 N IF E/A
(ppm) (ppm) (ppm)
ik 251.2 17.1 2.0 6.8
12-11 235.2 16.1 4.1 6.8
10-3 202.3 17.3 4,2 8.6
10-10 228.8 8.0 3.1 3.5
4
5
35  40%
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& 90,3 57 5 4 AT INTIa— 118. 2ppm
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10-10 +3 19. 4 2.9 2.2
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M — 42| 4.8 5.2 4.8) 4.2 3.8) 4.2| 20| -2 22| -19) -1B| -13| -11 -3 -f -5 |-4 5 -2 =2 =] n #1
Tla=- ;
(96 2.9 B3] eS|S0 123120 1 s 3 k)14 3 148182160 15,815 8 16,0 16.2 |16 4
[l AT 0.4 0.6| 0.8 L0 LO| 1) 127 L8| 14) 13| 1.3 12§ 1.3 L=} 12| L3 L%) L4| L3| L3] L3| L4 L3
Fadn
_!!L-FJ 0.4 0.5 D7) 0 ES[0LTE) LT[ 0385 2| 08) 1ol Lo| L0
TVI-VESINET  TVI-VERINE
H A B +1 +6 9
ThVI-V453 16.4 17.3
iz iy 1.3 1.2
T BE 1.0 0.9
B2 g 506 546
TTC
6
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7
8
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68 1 59 1973




